

10.4 Logistic Model

$y' = ky$ (1st order Diff)

$y = ky(1 - \frac{y}{L})$

$\frac{dy}{dx} = ky - \frac{ky^2}{L}$

$\int \frac{dy}{y(L-y)} = \int k dx$

$\ln y = kx + C$

$y = e^{kx+C}$

$y = e^C \cdot e^{kx}$

$y_0 = e^C$

$y = y_0 e^{kx}$

$y < L$

$y \rightarrow L$

$y = y_0$

kx

$y = y_0 e^{kx}$

Aug 23-2:31 PM

$y = ky(1 - \frac{y}{L})$

$\frac{dy}{dx} = \frac{ky}{L} (L-y)$

$\int \frac{1}{y(L-y)} dy = \int k dx$

$\frac{A}{y} + \frac{B}{L-y} = \frac{k}{y(L-y)}$

$A(L-y) + B(y) = L$

$y=0 \quad A(L-0) = L$

$y=L \quad B(L) = L$

$A=1$

$B=1$

$\int \frac{1}{y} + \int \frac{1}{L-y} = kx + C$

Aug 24-1:08 PM

$\int \frac{1}{y} dy + \int \frac{1}{L-y} dy = kx + C$

$\ln|y| + (-\ln|L-y|) = kx + C$

$\ln\left|\frac{y}{L-y}\right| = kx + C$

$\ln\left|\frac{y}{L-y}\right| = -kx - C$

$e^{\ln\left|\frac{y}{L-y}\right|} = e^{-kx-C}$

$\frac{L-y}{y} = e^{-kx-C}$

$\frac{L-y}{y} = e^{-kx} \cdot e^{-C}$

$\frac{L-y}{y} = \frac{L-y_0}{y_0} e^{-kx}$

$\frac{L-y}{y} = A e^{-kx}$

Aug 24-1:18 PM

$\frac{L-y}{y} = A e^{-kx}$

$\frac{L}{y} - \frac{y}{y} = A e^{-kx}$

$\frac{L}{y} - 1 = A e^{-kx}$

$\frac{L}{y} = 1 + A e^{-kx}$

$\frac{y}{L} = \frac{1}{1 + A e^{-kx}}$

$y = \frac{L}{1 + A e^{-kx}}$

$A = \frac{L-y_0}{y_0}$

Aug 24-1:22 PM

if $y' = ky(1 - \frac{y}{L})$

then $y = \frac{L}{1 + A e^{-kx}}$

where $A = \frac{L-y_0}{y_0}$

Aug 23-2:34 PM